November 10, 2021 Project No:

Invoice No:

007677

1021032



Mr. Stacy Slawinski, PE

County Engineer Fort Bend County **Engineering Department** 1517 Eugene Heimann Circle Richmond, TX 77469

Fort Bend County Mobility 2017 Project Management

P.O. No.: 163936, Date: March 27, 2018

Proj Management Services Project No.: 1700, Amount: \$1,000,000.00

Amendment No. 1 Amount: \$187,000.00 Amendment No. 2 Amount: \$310,000.00 Amendment No. 3 Amount: \$300,750.00 Amendment No. 4 Amount: \$293,750.00 Amendment No. 5 Amount: \$399,995.00 Amendment No. 6 Amount: \$21,100.00

For Professional Services rendered from October 2, 2021 to October 29, 2021:

Project Management

Professional Personnel

Hours	Rate	Amount
1.00	280.00	280.00
8.00	240.00	1,920.00
7.00	200.00	1,400.00
14.50	200.00	2,900.00
9.00	125.00	1,125.00
8.00	100.00	800.00
47.50		8,425.00
	1.00 8.00 7.00 14.50 9.00 8.00	1.00 280.00 8.00 240.00 7.00 200.00 14.50 200.00 9.00 125.00 8.00 100.00

8,425.00

\$8,425.00

Lake Olympia 2

Professional Personnel

	Hours	Rate	Amount
Project Manager			
Griffin, Jonathan	7.00	200.00	1,400.00
Odreman, Gabriel	3.00	200.00	600.00
Associate Engineer			
Richardson, Mark	1.00	125.00	125.00
Totals	11.00		2,125.00
Total Labor			

2,125.00

\$2,125.00

Chimney Rock

Project	007677	Fort Bend County Mobility2017		Invoice	1021032
Professiona	al Personnel				
		Hours	Rate	Amount	
	t Manager riffin, Jonathan	6.00	200.00	1,200.00	
	dreman, Gabriel	2.00	200.00	400.00	
	Project Engineer	2.00	200.00	100.00	
	ing, Raul	3.00	180.00	540.00	
Clerica					
D	iederich, Diana	1.00	100.00	100.00	
	Totals	12.00		2,240.00	
	Total Labor				2,240.00
					\$2,240.00
Bellaire					0.00
					0.00
Beechnut Professiona	al Personnel				
		Hours	Rate	Amount	
	t Manager	_			
	athe, Cody	5.00	200.00	1,000.00	
	riffin, Jonathan	1.00	200.00	200.00	
	dreman, Gabriel	5.00	200.00	1,000.00	
	ate Engineer dwards, Katlyn	4.50	125.00	562.50	
	ichardson, Mark	2.00	125.00	250.00	
K	Totals	17.50	123.00	3,012.50	
	Total Labor	17.30		3,012.30	3,012.50
	Total Eabor				\$3,012.50
Sidewalk	1.0				
Professiona	al Personnel		_		
D '.		Hours	Rate	Amount	
	t Manager	2.00	200.00	400.00	
	athe, Cody riffin, Jonathan	2.00 2.00	200.00 200.00	400.00 400.00	
	dreman, Gabriel	7.00	200.00	1,400.00	
	Totals	11.00	200.00	2,200.00	
	Total Labor	11.00		2,200.00	2,200.00
					\$2,200.00
D					
Burney Professiona	al Personnel				
		Hours	Rate	Amount	
Project	t Manager				
	dreman, Gabriel	6.00	200.00	1,200.00	
	Project Engineer				
	ang, Raul	14.00	180.00	2,520.00	
Clerica					
D	iederich, Diana	6.50	100.00	650.00	
	Totals	26.50		4,370.00	
	Total Labor				4,370.00
					\$4,370.00

Project 007677	Fort Bend Cour	nty Mobility2017		Invoice	1021032
Old Richmond					
Professional Personnel					
		Hours	Rate	Amount	
Project Manager		2.00	200.00	600.00	
Bathe, Cody Senior Project Engine	per -	3.00	200.00	600.00	
Fung, Raul		3.00	180.00	540.00	
Associate Engineer					
Edwards, Katlyn	1	1.00	125.00	125.00	
Clerical					
Diederich, Diana		3.00	100.00	300.00	
	Totals	10.00		1,565.00	1 5 (5 0 0
1	Total Labor				1,565.00
					\$1,565.00
Bellaire & Westmoor					
					0.00
Belknap					
Professional Personnel		••	_		
Duningt Manager		Hours	Rate	Amount	
Project Manager Bathe, Cody		26.00	200.00	5,200.00	
Odreman, Gabrie	el	8.00	200.00	1,600.00	
Senior Project Engine		0.00	200.00	1,000.00	
Fung, Raul		19.00	180.00	3,420.00	
Associate Engineer					
Richardson, Mar		15.50	125.00	1,937.50	
	Totals	68.50		12,157.50	
1	Total Labor				12,157.50
					\$12,157.50
Moore					
Professional Personnel		Hours	Rate	Amount	
Department Manager	•				
Anderson, Jeff		3.00	280.00	840.00	
Project Manager					
Bathe, Cody		6.00	200.00	1,200.00	
Griffin, Jonathan		5.00	200.00	1,000.00	
Odreman, Gabrie		6.00	200.00	1,200.00	
Senior Project Engine Fung, Raul	eer	19.00	180.00	3,420.00	
Clerical		19.00	180.00	3,420.00	
Diederich, Diana	a	3.50	100.00	350.00	
	Totals	42.50		8,010.00	
Т	Total Labor			-	8,010.00
					\$8,010.00
Avenue E					

Evergreen Side Rds Exhibit and Concept Development

Project	007677	Fort Bend County Mobility2017	7		Invoice	1021032
						0.00
Sundial Par	k Project Scoping					
Juliului I ul	k Project Scoping					0.00
California S	Street and Trammel Fre	esno Project Scoping				
						0.00
Estimates fo	or Future Bond Project	s				
						0.00
	ks Data Entry (All Pro	jects)				
Professiona	al Personnel			ъ.		
Project	t Manager	F	Iours	Rate	Amount	
	dreman, Gabriel		2.00	200.00	400.00	
Clerica			•			
Z	wahr, LeeAnn Totals		.50 2.50	100.00	50.00 450.00	
	Total La	abor	2.50		430.00	450.00
						\$450.00
	ble Expenses					
Reim I	Exp-Mileage Total Ro	eimbursables		1.0 times	102.48 102.48	102.48
	10001	ellio at saotes		1.0 times	102.10	\$102.48
						φ102.4c
Recap:		Current		Previous	To-Date	
	Billings	44,657.48		2,435,519.45	2,480,176.93	
	ontract Amount alance				2,512,595.00 32,418.07	
Di	atance			Total December		044 /55 46
				Total Due This	invoice:	\$44,657.48

Remit Payment: RPS Infrastructure, Inc. 575 N. Dairy Ashford. Suite 700. Houston. Texas. 77079 T: (281) 589-7257 -

Project	007677	Fort Bend County Mobility2017	Invoice	1021032
Billing	Backup		Fric	lay, October 29, 2021
RPS Infrastruct	ture Inc. (Live)	Invoice 1021032 Dated 11/10/2021	1 2:11:5	

RPS Infrastructure Inc. (Live)	Inv	Invoice 1021032 Dated 11/10/2021			2:11:58 PM
Professional Personnel					
Totessional Tersonner		Hours	Rate	Amount	
Department Manager					
22 - Pipkin, Lynn	10/19/2021	1.00	280.00	280.00	
Overall Management of Cor	ntract				
enior Project Manager					
30 - Talje, Bassem	10/18/2021	2.00	240.00	480.00	
follow up design review wit	h the team - Design	Coordination			
30 - Talje, Bassem	10/19/2021	2.00	240.00	480.00	
follow up design review wit	h the team - Design	Coordination			
30 - Talje, Bassem	10/25/2021	2.00	240.00	480.00	
Design Coordination					
30 - Talje, Bassem	10/26/2021	2.00	240.00	480.00	
Design Coordination					
roject Manager					
6 - Griffin, Jonathan	10/5/2021	1.00	200.00	200.00	
Internal Meeting to Discuss	Projects				
6 - Griffin, Jonathan	10/12/2021	1.00	200.00	200.00	
Meeting with BGE for Care	y Chase Entrance Ra	mp			
6 - Griffin, Jonathan	10/14/2021	1.00	200.00	200.00	
Internal Meeting to Discuss	Project Status				
6 - Griffin, Jonathan	10/19/2021	2.00	200.00	400.00	
Internal Meeting to discuss p	project status, assist	with Carev Chase F	Intrance		
Ramp	, ,	, , , , , , , , , , , , , , , , , , , ,			
6 - Griffin, Jonathan	10/25/2021	1.00	200.00	200.00	
Permit Review for Trammel	Fresno				
6 - Griffin, Jonathan	10/26/2021	1.00	200.00	200.00	
Internal Meeting to discuss j	project status				
6 - Odreman, Gabriel	10/5/2021	2.00	200.00	400.00	
Project status, schedules, and	d budgets review				
6 - Odreman, Gabriel	10/6/2021	2.00	200.00	400.00	
Meeting with TxDOT and Il	ce mobility meeting				
6 - Odreman, Gabriel	10/8/2021	1.00	200.00	200.00	
Program Budget review with	n Ike				
6 - Odreman, Gabriel	10/12/2021	2.00	200.00	400.00	
Project timelines review					
6 - Odreman, Gabriel	10/13/2021	2.50	200.00	500.00	
Mobility monthly meeting w					
6 - Odreman, Gabriel	10/18/2021	2.00	200.00	400.00	
Review overall projects state					
6 - Odreman, Gabriel	10/25/2021	3.00	200.00	600.00	
Project status review	10/20/2021	2.00	200.00	000100	
Associate Engineer					
20 - Richardson, Mark	10/4/2021	2.00	125.00	250.00	
Utility permit review	10/1/2021	2.00	120.00	250.00	
20 - Richardson, Mark	10/5/2021	1.00	125.00	125.00	
Wastewater permit review	10/5/2021	1.00	125.00	125.00	
20 - Richardson, Mark	10/11/2021	2.00	125.00	250.00	
Survey walkthrough for Cal			123.00	250.00	
20 - Richardson, Mark	10/21/2021	2.00	125.00	250.00	
Permit review for Trammel		2.00	123.00	250.00	
20 - Richardson, Mark	10/27/2021	2.00	125.00	250.00	
		2.00	123.00	230.00	
Permit review for Trammel	rresno				

Project	007677	Fort Bend County Mob	ility2017		Invoice	1021032
Clerical						
	29 - Diederich, Diana	10/5/2021	1.00	100.00	100.00	
	Status update meeting ar	nd notes				
	29 - Diederich, Diana	10/11/2021	1.50	100.00	150.00	
	Admin assistance for GC)				
	29 - Diederich, Diana	10/18/2021	2.00	100.00	200.00	
	Admin assistance					
	29 - Diederich, Diana	10/26/2021	2.00	100.00	200.00	
	Admin assistance for GC	/ FBC Weekly Status me	eting			
	29 - Diederich, Diana	10/27/2021	1.50	100.00	150.00	
	Admin assistance for GC)				
	Totals		47.50		8,425.00	
	Total Labor					8,425.00
						\$8,425.00

Professional Personnel

			Hours	Rate	Amount	
Project Man	ager					
	6 - Griffin, Jonathan	10/4/2021	1.00	200.00	200.00	
	Project Coordination					
	6 - Griffin, Jonathan	10/12/2021	1.00	200.00	200.00	
	Respond to RFI 20 & 21					
	6 - Griffin, Jonathan	10/14/2021	1.00	200.00	200.00	
	Republic Services Meeting	g				
	6 - Griffin, Jonathan	10/21/2021	1.00	200.00	200.00	
	Coordination with Republi	ic Services				
	6 - Griffin, Jonathan	10/22/2021	1.00	200.00	200.00	
	Design Consultant Coordin	nation				
	6 - Griffin, Jonathan	10/28/2021	1.00	200.00	200.00	
	Design Consultant Coordin	nation				
	6 - Griffin, Jonathan	10/29/2021	1.00	200.00	200.00	
	Design Consultant Coordin	nation				
	6 - Odreman, Gabriel	10/6/2021	1.00	200.00	200.00	
	Environmental scope chan	ge review and coordina	ntion with Berg Oli	ver		
	6 - Odreman, Gabriel	10/11/2021	1.00	200.00	200.00	
	GCWA coodination					
	6 - Odreman, Gabriel	10/26/2021	1.00	200.00	200.00	
	Project review (Agreemen	ts, design completion, t	imelines)			
Associate Er	ngineer					
	20 - Richardson, Mark	10/11/2021	1.00	125.00	125.00	
	Site visit for RFI on turn la	ane restriping				
	Totals		11.00		2,125.00	
	Total Labor					2,125.00

Professional Personnel

		Hours	Kate	Amount
Project Manager				
6 - Griffin, Jonathan	10/4/2021	1.00	200.00	200.00
Project Coordination				
6 - Griffin, Jonathan	10/5/2021	2.00	200.00	400.00
Project Coordination				
6 - Griffin, Jonathan	10/6/2021	1.00	200.00	200.00
Project Coordination				
6 - Griffin, Jonathan	10/14/2021	1.00	200.00	200.00
Design Consultant Coord	lination			
6 - Griffin, Jonathan Project Coordination 6 - Griffin, Jonathan	10/14/2021			

\$2,125.00

Project	007677	Fort Bend County Mobi	ility2017		Invoice	1021032
	6 - Griffin, Jonathan	10/26/2021	1.00	200.00	200.00	
	Design Consultant Coord	lination				
	6 - Odreman, Gabriel	10/11/2021	1.00	200.00	200.00	
	GCWA coodination					
	6 - Odreman, Gabriel	10/26/2021	1.00	200.00	200.00	
	Project review (Agreeme	ents, design completion, tir	nelines)			
Senior Proje	ect Engineer					
	7 - Fung, Raul	10/18/2021	1.00	180.00	180.00	
	LOSA Documentation.					
	7 - Fung, Raul	10/19/2021	1.00	180.00	180.00	
	LOSA Documentation.					
	7 - Fung, Raul	10/25/2021	1.00	180.00	180.00	
	Follow up regarding LO	SA documentation.				
Clerical						
	29 - Diederich, Diana	10/21/2021	1.00	100.00	100.00	
	Admin assistance					
	Totals		12.00		2,240.00	
	Total Labor					2,240.00
						\$2,240.00

Professional Personnel

		Hours	Rate	Amount	
Project Manager					
6 - Bathe, Cody	10/12/2021	3.00	200.00	600.00	
Follow up with Hoa on stat	tus of streetlight relocat	ion.			
6 - Bathe, Cody	10/26/2021	2.00	200.00	400.00	
Working on relocations for	streetlight				
6 - Griffin, Jonathan	10/6/2021	1.00	200.00	200.00	
Review AT&T Plans					
6 - Odreman, Gabriel	10/11/2021	1.00	200.00	200.00	
TDLR coordination					
6 - Odreman, Gabriel	10/19/2021	2.00	200.00	400.00	
SOL status review					
6 - Odreman, Gabriel	10/26/2021	2.00	200.00	400.00	
TDLR review					
Associate Engineer					
9 - Edwards, Katlyn	10/4/2021	.50	125.00	62.50	
following up with TDLR					
9 - Edwards, Katlyn	10/5/2021	1.00	125.00	125.00	
FBC weekly meeting and construction	corresponding to figure	out tentative sched	ule for ramp		
9 - Edwards, Katlyn	10/11/2021	2.00	125.00	250.00	
coordinating to ensure RFI construction is relayed and		d and that a date fo	r ramp		
9 - Edwards, Katlyn	10/14/2021	1.00	125.00	125.00	
FBC weekly meeting and s	ending email to TDLR	again			
20 - Richardson, Mark	10/5/2021	1.00	125.00	125.00	
TDLR letter updates and u	pdating county on statu	S			
20 - Richardson, Mark	10/19/2021	1.00	125.00	125.00	
TDLR updates and SOL in	vestigation				
Totals		17.50		3,012.50	
Total Labor					3,012.50

\$3,012.50

oject	007677	Fort Bend County Mob	pility2017		Invoice	1021032
ofessiona	al Personnel					
signt Mor	nagar		Hours	Rate	Amount	
oject Mar	6 - Bathe, Cody	10/12/2021	2.00	200.00	400.00	
	Pre bid meeting at FBC	10/12/2021	2.00	200.00	100100	
	6 - Griffin, Jonathan	10/19/2021	2.00	200.00	400.00	
	Review 50% PS&E					
	6 - Odreman, Gabriel	10/12/2021	1.00	200.00	200.00	
	Update for Qual Glen	10/15/2021	2.00	200.00	400.00	
	6 - Odreman, Gabriel	10/15/2021	2.00	200.00	400.00	
	Review 50% submittal pe 6 - Odreman, Gabriel	10/19/2021	2.00	200.00	400.00	
	Project review for deadling		2.00	200.00	400.00	
	6 - Odreman, Gabriel	10/26/2021	2.00	200.00	400.00	
	Change order review and			200.00	100.00	
	Totals		11.00		2,200.00	
	Total Labor					2,200.00
						\$2,200.00
						\$2,200.00
ssiona	al Personnel					
			Hours	Rate	Amount	
Mar	nager 6 - Odreman, Gabriel	10/6/2021	2.00	200.00	400.00	
	TCE coordination	10/6/2021	2.00	200.00	400.00	
	6 - Odreman, Gabriel	10/19/2021	2.00	200.00	400.00	
	Proposal review	10/19/2021	2.00	200.00	400.00	
	6 - Odreman, Gabriel	10/26/2021	2.00	200.00	400.00	
	Proposal for comments fr		2.00	200.00		
Proj	ect Engineer					
	7 - Fung, Raul	10/5/2021	1.00	180.00	180.00	
	Follow up with HR Green	regarding proposal. Atte	ended FBC weekl	y status		
	meeting.					
	7 - Fung, Raul	10/6/2021	1.00	180.00	180.00	
	Conference call with Jesu address FBC Constructab		arding pending pro	oposal to		
	7 - Fung, Raul	10/7/2021	1.00	180.00	180.00	
	Review of proposal subm		1.00	,	100.00	
	7 - Fung, Raul	10/11/2021	1.00	180.00	180.00	
	Review of updated propose Follow up withHR Green Constructability review of	sal by HR Green (pothole regarding pending propo	e of existing NFB osal to address FB	WA line). C		
	provided by Miller and A		ge sware miloti			
	7 - Fung, Raul	10/14/2021	2.00	180.00	360.00	
	Attended FBC weekly sta					
	Follow up with TxDot reg			en regarding		
	pending proposal to addre 7 - Fung, Raul	10/18/2021	2.00	180.00	360.00	
	Proposal review (version				300.00	
	regards to 45 TCE's. Revi			aoriei m		
	7 - Fung, Raul	10/19/2021	1.00	180.00	180.00	
	Follow up with HR Green proposal from HR Green					
	7 - Fung, Raul	10/20/2021	2.00	180.00	360.00	
	Received and reviewed T	xDot approved permit.				
	7 - Fung, Raul	10/21/2021	1.00	180.00	180.00	
	Follow up with HR Green comments. Follow up wit			bility		
	7 - Fung, Raul	10/27/2021	1.00	180.00	180.00	

Project	007677	Fort Bend County Mob	ility2017		Invoice	1021032
	7 - Fung, Raul	10/28/2021	1.00	180.00	180.00	
	Follow up with proposal s	submitted by HR Green r	egarding FBC Co	nstructability		
	comments.	-	-	-		
Clerical						
	29 - Diederich, Diana	10/6/2021	1.00	100.00	100.00	
	Admin Assistance					
	29 - Diederich, Diana	10/7/2021	.50	100.00	50.00	
	Admin assistance for GO					
	29 - Diederich, Diana	10/12/2021	1.50	100.00	150.00	
	Admin assistance					
	29 - Diederich, Diana	10/21/2021	1.00	100.00	100.00	
	Admin assistance	10/21/2021	1.00	100.00	100.00	
	29 - Diederich, Diana	10/26/2021	1.50	100.00	150.00	
	Admin assistance for GO	10/20/2021	1.50	100.00	130.00	
	29 - Diederich, Diana	10/28/2021	1.00	100.00	100.00	
		10/28/2021	1.00	100.00	100.00	
	Assist with TCEs		26.50		4.270.00	
	Totals		26.50		4,370.00	4.270.0
	Total Labor					4,370.0
						\$4,370.0
	1D '					
rotessiona	al Personnel					
			Hours	Rate	Amount	
Project Mar		10/06/0001	2.00	200.00	600.00	
	6 - Bathe, Cody	10/26/2021	3.00	200.00	600.00	
	Coordinating with mud 2	about water valves adjus	tments			
Senior Proje	ect Engineer					
	7 - Fung, Raul	10/20/2021	1.00	180.00	180.00	
	Plan review (utility confli	cts).				
	7 - Fung, Raul	10/25/2021	1.00	180.00	180.00	
	Follow up with MDS pers	sonnel regarding pending	utility relocation	S		
	7 - Fung, Raul	10/26/2021	1.00	180.00	180.00	
	Contacted MDS in regard	s to pending utility reloc	ation at Richtown	Ln.		
Associate E	ngineer					
	9 - Edwards, Katlyn	10/19/2021	1.00	125.00	125.00	
	helped find HOA contact	and identify pole # that r	eeds relocating			
Clerical	-					
	29 - Diederich, Diana	10/25/2021	1.50	100.00	150.00	
	Admin assistancee GO					
	29 - Diederich, Diana	10/28/2021	1.50	100.00	150.00	
	Admin assistance for GO				20.00	
	Totals		10.00		1,565.00	
	Total Labor		10.00		1,200.00	1,565.0
	Total Labor					,
						\$1,565.0
Professiona	al Personnel					
			Hours	Rate	Amount	
Project Mar	nager					
	6 - Bathe, Cody	10/5/2021	3.00	200.00	600.00	
	Coordinate meeting the p					
	6 - Bathe, Cody	10/6/2021	3.00	200.00	600.00	
					500.00	
		mer to go over information				
	Meeting with property ov	_			800.00	
	Meeting with property ow 6 - Bathe, Cody	10/11/2021	4.00	200.00	800.00	
	Meeting with property ov	10/11/2021			800.00 400.00	

Project	007677	Fort Bend County Mobili	ty2017		Invoice	1021032
	6 - Bathe, Cody	10/14/2021	4.00	200.00	800.00	
	Working on TCEs					
	6 - Bathe, Cody	10/25/2021	3.00	200.00	600.00	
	Meeting with property					
	6 - Bathe, Cody	10/26/2021	4.00	200.00	800.00	
		owners regarding TCEs				
	6 - Bathe, Cody	10/27/2021	3.00	200.00	600.00	
	Contacting property ow					
	6 - Odreman, Gabriel	10/5/2021	4.00	200.00	800.00	
	•	C Office with Masters Vessel		200.00	200.00	
	6 - Odreman, Gabriel	10/19/2021	1.00	200.00	200.00	
	Meeting for MVM Chr		2.00	200.00	400.00	
	6 - Odreman, Gabriel	10/21/2021	2.00	200.00	400.00	
	Exhbits for meeting wi Meeting with Church	in Church				
	6 - Odreman, Gabriel	10/26/2021	1.00	200.00	200.00	
	MVM Church DW coo		1100	200.00	200,00	
Senior Proje						
o timer r reje	7 - Fung, Raul	10/4/2021	2.00	180.00	360.00	
		ys exhibits provided by EJES		ll with EJES		
		pes. Provided Cody B. with la				
	7 - Fung, Raul	10/5/2021	2.00	180.00	360.00	
		ys exhibits provided by EJES				
	to discuss proposed slo R. (driveway R05).	pes. Discussed driveway loca	tion with Cody	B. and Mark		
	7 - Fung, Raul	10/6/2021	1.00	180.00	180.00	
	Discussed driveway loc EJES regarding addition	cation with Mark R. (driveway nal TCE's.	R05). Confere	nce call with		
	7 - Fung, Raul	10/7/2021	1.00	180.00	180.00	
	Review of updated driv	veway exhibits submitted by E	JES.			
	7 - Fung, Raul	10/13/2021	2.00	180.00	360.00	
		egarding ownership information texcel spreadsheet showing				
	7 - Fung, Raul	10/14/2021	2.00	180.00	360.00	
	Conference call with E	JES regarding excel file shoei	ng ownership ir		300.00	
		discussed status of TCE exhib		190.00	260.00	
	7 - Fung, Raul Follow up with EJES re	10/19/2021	2.00	180.00	360.00	
	7 - Fung, Raul	10/20/2021	1.00	180.00	180.00	
	Follow up with EJES re		1.00	100.00	100.00	
	7 - Fung, Raul	10/25/2021	1.00	180.00	180.00	
	Comcast permit review		1.00	100.00	100.00	
	7 - Fung, Raul	10/26/2021	2.00	180.00	360.00	
	Follow up with EJES re	egarding 8 additional TCE's. Ging driveways at Master Vesse	Conference call			
	7 - Fung, Raul	10/27/2021	2.00	180.00	360.00	
	Review of 8 addtiional EJES in regards to driv	TCE exhibits submitted by E. eway R09; also discussed late				
	School.	10/20/2021	1.00	100.00	100.00	
	7 - Fung, Raul	10/28/2021	1.00	180.00	180.00	
Associate E		3. regarding 8 additional TCE	s submitted by	EJES.		
Associate E	ngmeer 20 - Richardson, Mark	10/5/2021	3.00	125.00	375.00	
	Driveway exhibits for p		3.00	123.00	373.00	
	20 - Richardson, Mark	10/6/2021	2.00	125.00	250.00	
	Driveway exhibits for p	oorpoerty owners and checkin	g standards and	design		
	manuals for driveway l 20 - Richardson, Mark	10/13/2021	2.00	125.00	250.00	

Project	007677	Fort Bend County Mobi	lity2017		Invoice	1021032
	20 - Richardson, Mark	10/15/2021	1.00	125.00	125.00	
	Driveway exhibit for land	lowner and TCE agreemen	nt			
	20 - Richardson, Mark	10/19/2021	1.00	125.00	125.00	
	Creating of exhibit for dr	iveway TCE				
	20 - Richardson, Mark	10/21/2021	3.00	125.00	375.00	
	Exhibit for new driveway location and meeting with property owners					
	20 - Richardson, Mark	10/26/2021	2.50	125.00	312.50	
	Meeting with property ov	vner on new driveway loca	ation and creation	n of exhibits		
	20 - Richardson, Mark	10/28/2021	1.00	125.00	125.00	
	Exhibit detailing TCE for	property owner and meet	ing to discuss			
	Totals	12,157.50				
	Total Labor					12,157.50
						\$12,157.50

Professional Personnel

ssional Personnel					
		Hours	Rate	Amount	
ment Manager					
30 - Anderson, Jeff	10/5/2021	1.00	280.00	280.00	
30 - Anderson, Jeff	10/6/2021	2.00	280.00	560.00	
t Manager					
6 - Bathe, Cody	10/6/2021	3.00	200.00	600.00	
Provide information to utili to Fort Bend County for pro-			ation request		
6 - Bathe, Cody	10/13/2021	3.00	200.00	600.00	
Providing information to ut	ilities regarding right a	way status			
6 - Griffin, Jonathan	10/14/2021	1.00	200.00	200.00	
Steel Effects Drawings					
6 - Griffin, Jonathan	10/18/2021	1.00	200.00	200.00	
Review Steel Effects Draw	ings				
6 - Griffin, Jonathan	10/19/2021	1.00	200.00	200.00	
Steel Effects Plans					
6 - Griffin, Jonathan	10/20/2021	1.00	200.00	200.00	
Steel Effects Plans					
6 - Griffin, Jonathan	10/21/2021	1.00	200.00	200.00	
Steel Effects Plans					
6 - Odreman, Gabriel	10/14/2021	2.00	200.00	400.00	
Environmental review upda	ite				
6 - Odreman, Gabriel	10/19/2021	2.00	200.00	400.00	
Coordination with Sal for F	OW and residents				
6 - Odreman, Gabriel	10/27/2021	2.00	200.00	400.00	
ROW maps review with Sa	1				
Project Engineer					
7 - Fung, Raul	10/4/2021	3.00	180.00	540.00	
Review of Preliminary Juri pending invoice submitted scope of TLC and CobbFer	by TLC. Review of we	tland delineation f	orm, verify		
7 - Fung, Raul	10/5/2021	2.00	180.00	360.00	
	Follow up with Jeff A. regarding previous environmental review comments.Review of environmental. Review of environmental exhibits from				
7 - Fung, Raul	10/11/2021	2.00	180.00	360.00	
Follow up with Jeff A. regating included in the final environment.		ion drawings. Rev	iew exhibits		
7 - Fung, Raul	10/12/2021	1.00	180.00	180.00	
Coordination of file exchan ConbbFendley).	ge of CAD files (TLC	Engineering and			
7 - Fung, Raul	10/13/2021	1.00	180.00	180.00	
F ollow up with TLC Engir	neering regarding envir	onmental services.			

Project	007677	1	Fort Bend County Mob	oility2017		Invoice	1021032
	7 - Fung,	Raul	10/14/2021	2.00	180.00	360.00	
	Comcast	permit review. Co	onference call with Jona	athan G. and Gabi	riel O.		
	7 - Fung,	Raul	10/19/2021	1.00	180.00	180.00	
			garding responses to FE	BC Drainage Distr	rict		
		tion and also Steel					
	7 - Fung,		10/20/2021	2.00	180.00	360.00	
	Review of their revi		s and also the response	es from CobbFebd	lley regarding		
	7 - Fung,		10/22/2021	1.00	180.00	180.00	
	-		eering regarding submi			100.00	
	documen						
	7 - Fung,	Raul	10/25/2021	1.00	180.00	180.00	
	Received	updated environm	nental documents subm	itted by TLC Eng	ineering.		
	7 - Fung,	Raul	10/26/2021	1.00	180.00	180.00	
	. Discuss	ed with Mahmoud	S. regarding discrepan	cies in metes and	bounds.		
	7 - Fung,	Raul	10/27/2021	1.00	180.00	180.00	
	Follow u	p with CobbFende	ly regarding discrepand	cies of metes and	bounds.		
	7 - Fung,	Raul	10/29/2021	1.00	180.00	180.00	
	Reviewe	d updated environr	nental documents subn	nitted by TLC Eng	gineering.		
lerical		-					
	29 - Died	lerich, Diana	10/12/2021	1.50	100.00	150.00	
	Admin as	ssistance					
	29 - Died	lerich, Diana	10/19/2021	1.00	100.00	100.00	
	Admin as	ssistance					
	29 - Died	lerich, Diana	10/20/2021	1.00	100.00	100.00	
	Admin as	ssistance					
		Totals		42.50		8,010.00	
		Total Labor					8,010.00
							\$8,010.00
							\$0,010.00
Professiona	l Personnel	1					
				Hours	Rate	Amount	
Project Man	ager						
	6 - Odrer	nan, Gabriel	10/20/2021	2.00	200.00	400.00	
	Data entr	y for various proje	ects				
Clerical							
	28 - Zwa	hr, LeeAnn	10/14/2021	.50	100.00	50.00	
		Totals		2.50		450.00	
		Total Labor					450.00
							\$450.00
Reimbursa	ble Expense	es					
Reim Exp-N	/lileage						
EX 0000	000025160	10/5/2021	Odreman, Gabriel Belknap / Meeting 61.00 miles @ 0.5	g with Church for	Chruch for Belknap /	34.16	
EX 0000	000025160	10/6/2021	Odreman, Gabriel	l / Meeting with Il	ke for	34.16	
			Mobility / Meetin miles @ 0.56	g with lke for Mo	obility / 61.00		
EX 0000	000025160	10/7/2021	Odreman, Gabriel with Ike / 61.00 n		ke / Meeting	34.16	
		Total Reimbur		0	1.0 times	102.48	102.48
							\$102.48

Project	007677	Fort Bend County Mobility2017	Bend County Mobility2017 Invoice	
				\$44,657.48
			Total this Report	\$44,657.48